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Instructions / ¥yl

Candidate must ensure compliance to the instructions mentioned below, else objections
shall not be considered: -

(1) All the suggestion should be submitted through ONLINE OBJECTION SUBMISSION SYSTEM only.
Physical submission of suggestions will not be considered.

(2) Question wise suggestion to be submitted in the prescribed format (proforma) published on the
website / online objection submission system.

(3) All suggestions are to be submitted with reference to the Master Question Paper with provisional
answer key (Master Question Paper), published herewith on the website / online objection
submission system. Objections should be sent referring to the Question, Question No. & options of the
Master Question Paper.

(4) Suggestions regarding question nos. and options other than provisional answer key (Master Question
Paper) shall not be considered.

(5) Objections and answers suggested by the candidate should be in compliance with the responses given
by him in his answer sheet. Objections shall not be considered, in case, if responses given in the answer
sheet /response sheet and submitted suggestions are differed.

(6) Objection for each question should be made on separate sheet. Objection for more than one question
in single sheet shall not be considered.

GREUR o{lA{l AUt UEtat sRclloll dAB el AMl, WoRAAUL clitil-f et I SA YA LUl AU o8]

(1) GRAEAR citi-YUsll §5ct Bllolcl el WoBsalet AoiHl2let AR H 6l % Uot{le scllell _2. 3043 el 2WAH
glRL ARNLe{l 5 A Msetall AUAA cAitl-Yoll Lol Aalil AUA olgl Boll Wit ollu Adl.

(2) GREAR ditl-Yuoll % 5l AnUE2 / WolcAl ot N0 s2ot A2t ke UR YRt UAde (At oiystioll
% GUAlL 2.

(3) GRAEAR Wellal UIlatil HAA YHUYRASIHT WA USSHLS Y0l clltll-3 Aol 9 ol $cll dAHIM clltdl-3 Uil
Aetge UR YRty A YUABAA loRAR 8l (HIR2R YsUA)oll Ysl sHIs Yool ol A Aealul % s:all.

(4) HReR Yl RlEwe ust wa [@scu Rlanastt diul-yuel ua Aol wuadl «i&l.

(5) GREAUR Usloll [AsEU UR il % 5 B Al [AscU 3U B w6l YAAA B A el GREUR Welloll Griradlu
AU S ANSA, GAEAR YUAA wellol A GriRaAdloll wellol (@l §3 Al GREAR 17 53 clltll-YUsll
€2llotHL Aclld o3l

(6) A UsL MR A % clltl-YUol Uas cllURd. As % clitll-yAol ussHi Asel auR yslls(l 29U st sA Al
Aol cAitil-YAoll LUl AL ot8l.

Website link for online objection submission system : http://150.129.165.5/GPSC_Suggestion/



001. 2011+ ArAA Yoot HIRAHL Alell Ay, el HAcdL s UAH AR AU & ?

(A) Grir ugal, usRN, (G812 (B) U812, BT U2, A¥A
(C) [B81R, uey uea, 2il3m (D) 8RR, [Bre1z, Gr uedl
002. 2011+ A-AA YO, MR- $UL APUHL Azl 8rdl (Density of population) Aldl A¥IR 2 Al
21191 69 ?
(A) [BrerR 24 eud =3 (B) [Br81R 21 x130uA4 e
(C) Brix U 244 2Alal (D) M1 B A 9dludns

003. DA aisul Ul su ausul 4oy 9 ?

1. 9 AU AWE AR, HEL U, HSIREZ, Eld 2Ar EHRL d2ll E1ERA WAR sl ueeq
el 9.

2. U AUl UL 1 H 19610 AY 24 8.
3. YAl ALERAL E (2011 L A~AA HA6L) 78.03% €9 A 2011+ AU Horod AsA 91Ul 919 ©.
(A) 1 17 2 sl Uiy €9, (B) 2 2l 3 cusl uioy €9,
(©))1 24 3 aLsul Uy 69, (D) 1, 2 211 3 61419 ALSUL ALY 6,
004. DA causal UL suL ausul qlou €9 ?
1. el A7, 5 % A sRugHAE A3 8 d A aiol DAL .
2. [2ecl), H{ors, A~ 2 slastun s alBim ageios Al Al 2uism 8.
3. HSIceHL AL VSAUA SIUA/MAAAA VSAUA S1Ud-T AHELAE-AILEJU %3 8.
A)1, 2 11 3 (B) 1 21 3
(C) 1 21 2 (D) 2 21 3

-\
.

005. el Hu [AcUdU 244 d-L o Sgq sl

1. H® 34 a. slasti

2. yd 4 b. 1Y

3. yd u iy c. goudl

4. el ulam e d. 4o - e9xula sl usier edl-a
(A)1-¢,2-d,3-2,4-b (B)1-b,2-¢,3-d,4-2
(C)1-2,2-b,3-¢,4-d D)1-d,2-2,3-b,4-¢

006. 1A cusul AsRAL:
1. S tid- ustdl A%AIHL cuIHA dldl 8l FoLdl 2uda 8.
2. ydaiz 214 wlm aeHl gl uR w16 oldl 2udd 8. wrvi Bl uiest Wil u 8.
3. [Bruaa-n G usist u AN urRni d, sasl, Yedl, A2 g gail A uHwi 63t 6.
(A) 1 244 3 4129 89, (B) 2 i 3 Al 89,
(©)1 241 2 uioy . (D) 1,2 2 3 Uidu 8,
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007.

008.

009.

010.

011.

012.

DA cusul WS sy asa alou 6 ?

1. e saa susiella vdlui gaiR, suel, s Faust i 8.
2. 8B us 12 il vidl s odl- gl Gualdll ©.

3. RSN vidlall 9424, sw, aw, $idiR Fa wsld Gaug- i 6.
4. ouuAdl vidlHi AL, $15] P WS-l AHE 1d 8.

(A) 1,2 %4 3 (B) 1, 2 ¥ 4

(C) 2,3 x4 D)1, 2, 3 21 4

RURArL AU 241 d -l et (Capital) A 2194 dd A3,

1. v3RAE UL a. S2R

2. AN b. [Bay2

3. uldyR c. 9514

4. HEIQY d. [Qidia
(A)1-b,2-¢,3-d,4-a B)1-a,2-b,3-c¢c,4-d
(C)1-¢,2-d,3-2,4-b M) 1-d,2-2,3-b,4-¢

2ol (3ecuil (Fort) 24 AoiAd ad/uedi-l Adlail WA 59 sl aioy ) ?

(A) urslou $12 (Panhala Fort) — HSIR1M

(B) A3 818 (Golconda Fort) — SEALUE

(C) 48318 $1¢ (Mehrangarh Fort) — 1%

D) sid 51 (Kangra Fort) — t9tl1212

A2l ALsAL ASIRAL 20 SAL wsAL AU O ?

1. cuollRel €] uR sl 2udd gl $U (Tehri Dam) GURdAHE 2udd A G4 $H .
2. (3143 ¥ (Hirakund Dam) 2020 244 2044 © 214 d Al @ieil S,

3. cidlawst $H (Dantiwada Dam) 9AGH] 20dd O 24 d HELEl Gur .

(A) 1,2 211 3 cusl uloy €9, (B) 1 2 2 cusl Uiy €9,

(C) 1 2 3 cusul uldy 89, (D) 2 2 3 cusul ALY 89,

214212 (Tiger Reserve) 3ocl @A 24 A6iHld Aol Adl2 WA 56 A dl aloy 4l ?
(A)-43151 (Namdapha) — 248 e (B) uél (Pakke) — 30044 UL
(C) 2RI (Orang) — WA (D) S48l (Indravati) — £9T1A1S

“UAHA wud” QWL 3 ¥ HIRAAL A%[A& (Indian Emblem) A& Qv 2ud © d el A
A 89 ?

(A) de — Rigved (B) UdUYU ¢¥$RU — Satpath Brahmana

© {-LSS Gu-lae — Mundak Upnishad (D) A8 — Ramayana
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013.  GURcAL NvAld Fd USIR A Aoidld A%l ULy Ad A8l :

1. 5a% (Kathak) a. suguR

2. $2us sdl (Kathakali) b. % U

3. $Mydl (Kuchipudi) c. 50U

4. B35 (Rouf) d. Gk uga
(A)1-¢,2-b,3-a,4-d B)1-d,2-¢,3-b,4-a
(C)1-b,2-2a,3-d,4-¢ D)1-a,2-d,3-¢c,4-b

014.  <ugl (instrument) A1 Algs-l 59 A2 wiou 8 ?
1. AdR —Udla agHiz axl
2. ARl — vl i
3. ofld — 2ug xell viur
4. A=slellA — ofloy qpuat s
(A) 112 B) 1 211 3
(O) 1 21 4 (D) 1, 2, 3 i 4 618100 Q1Y 89,
015. IRl Q-2 AL 27 Al 018 AA AL A 5124 USL 5L A5 Ul2U 8 ?
1. 2uuadl (Ashavali Saree) — AL%RUA
2. f’{lc:l,%llﬂ aldl (Baluchari Saree) — Gt el
3. olindl Al (Bomkai Saree) — il
4. sug Al (Kasavu Saree) — dtfla-iig
(A) 112 B)'1 211 3
()1 21 4 (D) 1,2, 3 24 4
016.  GURAL MuAld H2RL 21 AsilAd Aol Al WS 58 A aloy ad) ?
(A) tidl-u e (Badrinath Temple) — GriIvis
(B) si-us Yl Hl2 — 21 dlan
(©) v 24 42 — 2=ni8 uza
(D) R [@-nas 2wl 22 (Siddhi Vinayak Temple) — HSIRAN

N\ =\ .Y

017.  [3-€l curiit @wisi 24 AU ARLELAA 4Ry 3l dlsal.

1. dx a. AHAI Rs-2s

2. sHaHll b. sellu-ua

3. Ra x1Ad c. FUAS UALE

4. Ay d. ollw a1l
(A)1-¢,2-b,3-a,4-d B)1-d,2-¢,3-b,4-2
(C)1-b,2-a,3-d,4-¢ D)1-2a,2-d,3-¢c,4-b

018.  S1AHi bllg 4HAL YRUdcdly 1agi2ll 9rAdul suL 20l woQ 8 ?

(A) u& (Bagh) B) 2a-ll W<l (Devnimori)
(C) AR (D) sUl4 axq,
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019.  [doru 2ea1 “Vijay Stambha’ su1 240l 20da &9 ?

(A) BUYR (B) Geuyr
(©) iz (D) AR
020. ‘AU €5 Gi3IR’ ‘National Archives’ $4L A% 204 €9 ?
A) dl [2ed) (B) sastll
(C) e8ug (D) H1$
021. sl Guniet Wil 27 d-fl 2401 52702 Avisll A dlil dusal.
1. U AeuS Qi a. gl equdH
2. dllde - Ay umawl b, sl sRaena Yl
3. Yana c. L Meisz AMat-1u oAl - yHdd
4. DAAH M2 d. =l y—~Nlena ula
A)1-d,2-¢,3-b,4-a B)1-¢,2-b,3-2a,4-d
(C)1-b,2-2,3-d,4-¢ M)1-2,2-d,3-¢,4-b

022. DAL s cusal qou B ?
1. Auwa- dl dq s€l2 3 Ws uls N8R — dvis 4R[S Hdal.
2. ¥is HRuir wid) 24, uLaR A2dl Yy ed — Quis B MILd
3. A% Hr Al 5ol 201, -l Sumi uigdl Ulgdl, Ulest syoll-l 2o — Auis ae Heugll

(A) 1 241 2 (B) 2 ¥ 3
(C)1 413 D)1, 2 213
023. 9l Auisl i d2ii GuitH-l ALl UL 56 Al uioy -l ?
(A) o601, w1ogd Al Rl — 1l (B) HYYET ACUMELA S5 — HYAY
(C) Aueus -2 A — AsATH D) 3R dvdRis® dRa — 3514
024.  NAUUA gsw Al sy n 5294l 20da 6 ?
(A) sa4aur (B) susisl2
(C) Adl (D) Y
025.  HeHE A2 AH-u GuR AL 53 UL AR A% SIRMIR 51 AMNAL Sl ?
(A) s8lga uddl B) luga usal
(C) suigq ol (D) ellugaq ol

026. Al ouotd su1 Al AHAUL a8l ?
1. 049529 (M3) il eAMdled (ML) B 211U 6IERU dArll ABAHI Sell.
2. AL wsuy s Aosu-l Ay el v auurl 53 gl
3. drl aHadl (e, e 29 [Rasal el (s add gdl.
(A) U2 AHSRA B) uu2 g oflod - [asHleen

-

(C) $1IR i usdl (D) A2 A2ALS
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027. Al R [z 2uudl A2l 214 d-i eun 200 asal W sy sy dloy, 4l ?
(A) Sre-il G A MURAL AR & WA dslien A&lRs eun 8.
(B) g1t [Brgizui Aiagt [Qendls 2uda gdl.
(©) src- erRuani 2Aetlydl surll [Qendls ¢dl.
(D) sia-u syl [Asulien [Qendls 2fzacui sdl.
028. el curauni, {2 UA su1 e - el - 8l ?
(A) sl 20454 da, A2 de (B) u¢dq dal, uisy 4
(C) AldL dal D)mlasiz, wa da
029. Dl cusql AsRAL:
1. AdAR R4 ddell-l asiusid) Al - [ArdiRaug Al Alorir aen 0 UL HIdL oA Sl
2. 34 8160 g1t “vuaADUA” Al HHA A3 53A Sl 2 dll HILL HAHSE L, ALAIRL, R, ARYR Fal

AL t1AL Sl
(A) UAH AU ALY 89, (B) tllog cusy uiou €9,
(©)man 21 oflog, 61l ausul ULy €9, (D) &M 1 ollog, o1l sl Uiy 9.

030. 1857+l AA1H ALiHL AL ALsAL ASIAL :
1. w31 el 2ueie- Hull aRerzgra-dl 2udtandl 1A A Sl edl.
2. ALY (Au3) dum-L Alsi e x4 w9l 2udtal sl BuHul AkA Sal.
3. BT AarAdHl wewl, Wy, [Mealdl, 432l rouat ul MM A3 244 8.
(A)1, 2 24 3 sl Uiy 9, (B) 1 A 2 Alsul Uloy 69,
(C) 2 w1 3 cusul uidy 89, (D) 1 A 3 cusul ALY 89,

-\

031. 22Ul AUASL - JHY 10U Q1Y Id A3l :

1. AUIREL AcuAS a. 1928

2. U3l AU b. 1917

3. vuUSHIRY Hiclan c. 1917-1918

4. ouRsidl acuas d. 1920-1922
(A)1-d,2-2a,3-b,4-c B)1-¢,2-d,3-a,4-b
©)1-b,2-¢,3-d,4-a D)1-a,2-b,3-¢c,4-d

032.  NAUUAA s w81l [Agani st-dlsil nalani wlsu sildsidail g ?
1. 2UHD $™ AU, HeAad Hloal
2. 412 AR, Al sy, Gunfie
3. A% HS % Uy, AR v, M2 Reens
4. Aawru qogeal, Aar tgll?, 3t vyl “veina”
(A) 1,2 %4 3 (B) 1, 3 A 4
(O) 1,2 x4 4 D)1, 2, 3 21 4
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033.

034.

035s.

036.

037.

038.

039.

S\ “\

et L NSl g AL Ssan glAl, d- Avist 2 gl usi-l A1 WA 56 A8 ulou
4l ?

(A) RAAUAAETY, — HIA — U2S (B) §HIR AMa — sUALIA — HSLSIY
(C) Yadx — [Awy aul — aidl das M) Rigua ay — eudl — vissiey

s 21 Afis Yareudl Anan Aaia-i Heiqeual 249 dzii-u Al Adi, WA 5 Al uiu
a4l ?

(A) A AH HISH AU — GRS AHIY

(B) wulldon §A — A A4S AHY

(C) 2l guide uRadl — 20 a3y

M) 572 5R DRuldam — iR it Dad WRuan aiam

[AopurtaR oAl AA0Y 207 sUL A0 Holl 2ud €9 ?

(A) 02y — Bijapur (B) 2UAsi-3L — Golconda
(€©) s ¥l — Hampi (D) asigll — Vadodara
F2lfl AUt 2id dan 2izoa-dl aaiudal su yg 5128 2fla as ?

(A) vielauad 4s — Wandiwash War

(B) 45427 Yg — The battle of Buxar

(C) 4l 202U Y — The battle of Seringapatnam

D) ‘étl%{l'j, Yg — The battle of Plascy

S IDETETEN EETE

1. &Rd 22 “onamdl Alvn” -l Aldl Wigl s s e 6.

2. ouAHdl Alvg Youdd Gaued e[ A v (R a8,

3. AL gL (APEDA) tuudl Qiuy W12 AAIS s S+El3aum Geographical Indication (GI) 4Ny 9.
(A) 1 11 2 cLsUl Uiy €9, (B) 1 24 3 cusl Uiy €9,
(C) 2 A 3 cusul uidy 89, (D) 1, 2 A 3 LSl ALY 89,
A WA 5y cawsa a8 ?

1. Aogd 3¢ bivs (RRB) -l 241 AU SIAEL YL SAUH] 2UAA 69,

2. RRB g1 90% (B0, i3l A-§lami 244 M [QRdiRHi 529 5220U1d 6.
3. euHi vidladl fag we B a5l ti-sl WRSA sAUUL 21d ©.

(A) 1,2 %4 3 (B) WA 3

(C) WA 2 @) WA 1

A2 U suL ausal qiou € ?

1. 214 $dla 332l (Anti-dumping Duty) 2 &gl 2[5 . ¢l eari Genlal uesll azgil e
alou 8As1S 30 us.

2. slud A ?S"\S%ilm oy vieR s14d DGTR (Director General of Trade Remedies) ENEN]
S’loL 2ol dwia 52 8.

(A) A 1 (B) WA 2

(€)1 211 2 61t cusul A 89, (D) 1 24 2 61 sl Uiy AL,
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040.

041.

042.

043.

044.

045.

“ARR div” (Teaser Loan) SIAHI AHIAR WAHL AU HA 6, d 9 & ?
(A)nals doissil ol €2 2491 SId € i ugdl -l g2 Al .
(B) ML AZN6L A 6100 LA, 21691 UL €3 2L 2iad] did,
(C) w1 WL 54, viotor AL €2 i1 Qo duou-il di-L.

(D) ¥4 driclrt l5aaia >uuani suadl di-.

-

6ivs Wil 6321 (Bank Board Buerau, BBB) il 44 $1al sui ¢ ?
1. Glesil SR ugdl, dcd--uHi YRl sal.

2. oimsi-l You ol Mal {2 stdad) s 2 UMl A$1R1 AL sdl.

3. vt (B (Bad Loans) -l 21AR @213l 18R &xli-l 6isid Adl 44l »uudl.

(A) 11 3 (B) 2 %A 3

(©)1 21 2 (D) 1,2 ¥4 3

Awmslsa S-3an 2 (Geographical Indication Tag - GI) A+~ Ad siA 2uyami 2ud ¢ ?
1. vid Gewel (Agricultural Product)

2. vt ugilal (Food Stuffs)

3. &-dls182 (Handicrafts)

4. s C{Qg?:ﬁ (Industrial Products)

5. A+ 4 1dldle YleuAl (Wine and Spirit Drinks)

(A) 1,2, 3 24 4 (B) 1,2, 445

©)1,2,3,4215 (D) 2,3, 4 %4 5

RURAHL €2 A &L quid s1u-u-flud Ui (Financial Report) $i-il 610 61812 WsclHi 2ud ¢ ?
(A) A tirs 2s Sl B) A 2uuia

(C) -ueus (D) -ew Hauau

-l Akl Higl drdl AR W2 59 €l BU stddd -1 © ? (World largest floating solar
project)

(A) 2o (B) il

(C) WY~ (D) 5145

au w2 AR (Open market policy) i 56 W3-l cudt €9 ?

(A) 5412 WA (Credit policy) (B) 3¢z Wil (Debit policy)

(©) fuifle widlRll (Deposit policy) (D) Buisd U4 516 ur 1l
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046.

047.

048.

049.

050.

051.

MURAHE 100 31 0L 244 1 31l -2 Gur sidl udl Slu 6 ?
i, Aguld

IR RCKRICTEE]

HirL 202,00l 20, dd-Rsl

e, HAL Aen (el

i ARasl -usu (el

AU S o e

i, A Ald 2uai0

(A) Hirt 002l 244 1. |8l wen (et

(B) L. H=All Ao Qe 244 Hin. AHA I 2uaia

(©) urt. 2020020, A4 244 1. AR e [[deuat

(D) -t AlRasil usu [Qeust x4 i, 40 lld 2uai0

121 21ed= (Mixed Economy) %24 ?

(A) Vidl 24 GelldUA, AU IR AL UHISHL UlcALs A 21U 69,

(B) 2182 &xA 2 vl &ot A AR

(C) ~Urit, HEUH A Hi2L GalloliA WicilsH

(D) vl &ot 24 widl-i (sl G

ABUAMUAL AUAELAL Y2ullHi Mgl 51052 €9 ?

(A) AHIY HAEIR (B) dlsuci-iL aeusllail
(©) s [Atun e Yra acu sl (D) AiSAML, A% [Atun e acu szl

QU AL GTEIRELAL 2UHHHL “UHIAEL (B AUEURS” AEI-AL A sUL o{RRlA YHIRLA 51281 2l
el 8 “ls AAMIH UM AL, (Bt AUEURS AlsedALHS UAATLS a1 2UHuHL Gedn & ?

(A) YRl -i. 41 B) Y -i. 42
(C) YR +i. 43 (D) YR -i. 44
HANMA 8551 AAIE A $H 1611 1oy Fd 2Wsal.
HOGA S50 §12%9¢
1. awll 2alda Q3R Uil 2145 essld @ a. 21
2. SIUEL AHA AHIAL b. 28
3. @ar i1 AR edU 8 c. 19
4. s Guirn-umi s19rdl »{d1 AdaAdl d. 14
(A)1-b,2-¢,3-d,4-a B)1-2,2-b,3-¢,4-d
©)1-¢,2-d,3-2,4-b M)1-d,2-2,3-b,4-c

oigl-ucugllse, uH 20, uldny, 2E5R Y291, Blan Fdl [R2-l Gedu Alat-- suL vh2u9eul
s Q9 ?

(A) 29 (B) 30
© 3 D) 32
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052.

053.

054.

0SS.

056.

057.

A=A WS su causal aioy 69 ?

1. 232698 374 20 (-l Aausal 518 s A4 sAdl asdl 12l ug siuel asdl aud
Aop-lla-u Woleats Rusidia @y wigal Al 20 8.

2. APAIE 40 Yoyt HUAALD 2L, %33 Atil 214 AR 2uuarll Aaas sami 2uda 9.
3. 511 2000l ) 14 HellailRd WRRAR Rig sa-) Aot 214269¢ 44 i s34 .

(A) 11 3 B) 1 21 2

(C)2 41 3 (D) 1,2 ¢ 3
“SFURTI” dl%s-ll (R5[d dlogeil) sl HoUad 11 A3 sUMi 2udd 6 ?
(A) 4&4, ag 2q wam Gellol Hauay (B) 80 H-uau

(C) A8 HAqu (D) 28U HouAu
LBETETEN A

1. Aoy ueig [Qucs ad asal 8 udg 173 Al asu iu dedl amsl dvaumi €2 6 ad uel [RAgn
al.

2. dlsueidl uddl tissll aidluEl 6 al Yl dlsucu g 284,

(A)man asy aiou 9, (B) tllog cusy uiou €9,
(C) M i oflog o1 sl 4Ly 8. (D) N&H 1 ollog i ausal dLoy, .
A usal AstAL

1. €35 oA dal GuRd-l A orraq ol 1igd SUS wRL A Hl AYsd clesHi 8193 2uuUHL 855 8.
2. siladla euol dlin sie A HASLA AAUAL HAEHT ML Al dl Hel 2L 855 6.
3. MRdl Gu-uld gigil 33 AspAMIU AUl 264,

(A) 1 244 2 412y 89, (B) 2 i 3 A2y 89,
(€)1 211 3 vy 89, (D) 1, 2 24+ 3 18100 412y 89,
A sl asil.

1. Gurguld-l Z2ellui e A el st e HASIRIARIAL AGUL, HAEL 52 €9 i 26l UASL Ot HegLrdl
uiedfl aa 8.

2. % Al5d A%U AU A A A21al As <L Sid aal 35 Qi GHR Y 53 1 €l d alsa
Guarzuld azlvi 22ian uia -,

BURLSd AU sULALAIEHT SAAQ 9 ?

(A) 64 (B) 65
(©) 66 (D) 67
A=A sl ASIAL :

1. uld, agpiair AU didiri Al Wit sigrg A2-uy, 2udl asal.
2. A9 65 Hi AU sul Yoot AUl H8L 2URIU (Impeachment) &1L §2 53 A B,

NN Yy

3. arzula AAe-u 515 ULl a8 viaan AUl [Aanr {24l AU L Sldl AS L A AU 1A dl &L
AL d dlvadl d lss vudl 530 auu €.

(A) Wt 3 cusu a8, (B) 1 2Ari 2 cusl uioy €9,
(C) 2 w1 3 cusul Al 89, (D) 1 24 3 cusul ALY 89,
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0S8.

059.

060.

061.

062.

-

A suotdl HIE Ul2Y 2442IE ANlsal :

BRI 2142698
1. AU ABAUAL a. 158
2. AAwaHl [Augs b. 156

3. Azaua Slgl Yed e 153

4. Apuwa- elel aRdl - d. 155
(A)1-¢,2-b,3-2,4-d B)1-d,2-¢,3-b,4-2
(C)1-b,2-2,3-d,4-¢ M)1-2,2-d,3-¢,4-b
A AA 5y ausu uloy dl ?

(A) HIRAHE A5 GRAAH AALEA B A3 MURdAL HIrl, You A BURid 24y UL =aydil
POUEREREN

B+ a3yl 70 ) GHR Y vl Sigl sadl a3 8.

(C) ML ~ay[d vldig A2 Hi. r2ulan A1E2 52 B,

(D) s14 2B UL You ~uay[d- o 2§269€ 126 Hi s 204 B,

A ausal a5l

1. Yuud {3l oo 2l 7141 YAIRL Yoo 2ud) vna 6.

2. Yad [0 JHIRASAL dl. 24-4-939 AN 2udd .

3. weuadl 2R+ vtaa e a4l ARUBH] AR 11 Aa-l [AHgs saHi 20d 8.
4. dA- M AoA0HE Yed wi aul glu 6.

(A) 1 2 4 cusul w1y A, (B) 1 1 2 cusul widy i,
(€)1 21 3 cusul widy A, (D) 1, 2, 3 i1 4 cusUl A2 4l
LBETETEN A

1. 37dlU Ad Sl 20ALA 25-212122 1988+ A% “AuUAS £%%” 2UUAHL 2UAA S,

2. UM A8 BURid =18l AU SIY 69,

3. GRIAR lELl gBuulL Bl ousidll duid s34 dloU d WAL HRAL BUULRL HALHEL 53 69,
GuRisa USL sun [Qan-il w0y ¢ ?

(A) 1 21 2 (B) 2 ¥ 3
(©)1 213 (D) 1,2 ¥4 3
A sl asil.

1. dlsWA 2 AlsIYsd SUEL - 2013, A Hirl 002uldat 1 oy2u3l 20141 % Hog Il >uudl 8dl 244
16 2A~y2UR) 20148 21 SIUEL HHAHT 0dd Sl

2. dlswaHi a8l GuRid HeaH 28 ucdi-l Almes s30 as o,
(A)ynam i ollog asa oy 8. (B) UL UAH ALsA ALY 69,
(C) ML=t oilog sy U2 €9, (D) &M 1 ollog aisu, ot dioy .
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063.

064.

065.

066.

067.

068.

dls Ac naiol AduS il 2 oi[8d 2042692 A2 WA 56 A wlow 2l ?
(A) A8 25 ALs AL PUALL 2 €35 AU V15 ALS AL AL 8A — AY249€-315
B) neui-ll [Auggsl Ao — »1q29¢-317

(C) dls Al 2UALRLAL S1Ul — 2j2%9€-320

(D) dls AL 2uAlol [RUild — 2269¢-323

LDETEIENEETEN R

1. daadil axm el 0yel siiadlHl gaoigidl Ao 2ol sfaqui [AlRa w69, 2u w2l
A2US HAIE 243 T (243 K) Ui scuul 20ddl 69,

2. AlSUML APAAML 24 [Qaueuddl 226l 2000 guneid x14269¢ 324 Sstn - SAsuq sRanwi
[Al8a wu 8.

(A) UAH USA ALY 9, (B) tllog sy uiou €9,
(©)man 21 oflog o1 cusul Loy 8. (D) U&H 1 ollog i ausal dloy, .
vl oot Y.
216 3|2
80 | 24 120 | 36
(A) 7 (B) 8
©9 (D) 10
vl oot Y.
84 81 88
14 | 12 18| 9 ?2 | 11
A) 16 (B) 21
(©) 24 (D) 28

L,M,N,O,P,Q,R, S, T A A5 1 2l 9 {612 2uU& 8. Ug, 1l <1420 sHIGAR ell. PHIE 4 612
UUA 9, P T A 5 14 dS1Ad 9 2 T 4l N a2 3 L dsidd 9. 24 HUHE N 1 $Ul 612
U 8 ?

(A)7 @) 6
©5s (D) 4

25 §2301m1L 12 cunsi-l A GHR 11 au . o e1gt-l ARl s 20d dl w3219 G 15 a2 6,
glel-l GuR sedl sal ?

(A) 52 @) 63 i

(C) 68 < (D) 72 aM
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069.

070.

071.

072.

073.

074.

075.

076.

L5 HvULL 1/4 HIRLAL 2/5 GUOL 72 U 6. dl A AvauL 8 89 ?
(A) 360 (B) 540
(©) 720 (D) 900

25 204lH 101 12 seusHi 2i8l M s 8. uid A ollod A viiaumi 2ud dl 18 seausHi 2isl vudl a8
8. ol 61, 0L MlAUHL 24 dl 218l 52l AvidHi MR ?

(A) 18 5415 (B) 36 sa15

(C) 54 5415 (D) 72 5415

25 Auidl Y [3Hd BUR 20% 151 BAA 20% AdR 20U €9, 24 AANHE A S2al 251 5151 49 ?
(A) 4% (B) 5%

(C) 8% (D) 518 151 5 s Al Al

-\

70 W12 aiell 2udl, 90 Hl2: aici WWasiHA 4 AS3HE uAR 52 8. dl -l »3u sedl ¢l ?

(A) 60 [3Y/sc1s B) 72 [3y/scus
(C) 90 (3358 (D) 144 [3:0)/5cus
vl oot Y.

29 [ 13| 18

33 2|19

33 (27| 3
(A) 19 (B) 15
(C) 14 D) 8
25 Hi2 asal Wil Bl 35 AL 8. dl 11 (53 2idR stuan Ug seen uieL iRl ?
(A) 2,500 il (B) 3,000 il
(C) 4,000 i2L D) 5,000 il

uiy i Hl2z stusniddl 50 A4l Sedn AU sustiL Audl- ol s ?

(A) 10 QUi+ (B) 100 -usl-

(C) 1000 Uil (D) 10,000 Uil

3. 720 Hi s viRell dacusfl 20% iz AU 6 AN 20% 151 Aaadl Sid dl d vRell szcuni dadl Asx ?
(A) 720 3L. (B) 900 3L.

(©) 1080 31. (D) 1200 3.
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077.

078.

079.

080.

081.

082.

083.

084.

08S5.

vl oot Y.

3 |[370] 7

2 |224] 6

1 |730( ?
(A) 5 (B) 7
©9 D) 11

D2l WAL S oA dl2il ealag aus -l ?

(A) L. 20l AluA — [P a Wiy se AA1dst s uaH wldal

(B) <L oldl agr — waoR sy x4 RH2 Al GuagHl simolld)
(€) g sRua — 32 gu ¢is S

D) s1cu gl — uan WS sidq A=l

ol dui Al arid 1w A4l sl 9 ?

(A) 16 S1SASS - Carbon dioxide (B) laA - Methane
© élll§:l35‘1 - Hydrogen D) élll§:l35‘1 A0S - Hydrogen Sulphide
ALS (Chalk) 211 U™ (Marble) 3 9L USIR €9 ?

(A) seallum élll§:l°6'1 1612 - Calcium hydrogen carbonate

B) 5cluH s1eli-2 - Caleium carbonate

© scllam 122 - Calcium acetate

D) Aflun s1etiA2 - Sodium carbonate

5IAI% (Oncology) 2 5L BUGLArL AGAA 53 69 ?

(A) ugll>i (Birds) (B) 34 (Cancer)

(C) ¥l (Soil) (D) A2t el (Mammals)

fl Sr22AA ALAUR AeuA (The International Solar Alliance - ISA) @ AR s 0 2udd ¢ ?
(A) U (Paris) B) dl Redl (New Delhi)

(©) 2L3AH (Gurugram) D)~y K (New Yark)

U251 AL (Arka Soma) 2 2251 (AU (Arka Trashna) 21 -l Al ondi ¢ ?

(A) s18 (Grapes) (B) 2142l (Tomato)

(C) 413 (Guava) (D) 4d2U (Orange)

A Y2 2S 254 ud s Ars Yo wi-{loL (National Bureau of Soil Survey and Land Use
Planning) g Hvd HAS 56 @ou 0dd 9 ?

(A) 8gu0ue (Hyderabad) (B) [l (Delhi)
(C) Y&l (Pune) (D) w2ryR (Nagpur)
iR YoisHi Yois-l HRAHE Yot (Magnetism) $2¢ Sl € ?

(A) HSTH (B) 4ytu

©) 3~ (D) S8 uMIA S 89,

ASN-MASTER] 13 [ P.T.O.


CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight


086.

087.

088.

089.

090.

091.

092.

093.

331R (RADAR) 2u-l Guaiomi dan 89 ?

(A) g3l ig WA AGHIA Al

(B) 381l aZon-ll &l Wy

(C) Wl 8 A dedllrl 20011 WIS

D) @, 2asll 18-, uall2al adi’d- n ikl 12

ol el 2l HLA A WS (RIMNP) suL aod/5-wRd e aui 2uda ¢ ?

(A) YAl (B) iR

(©) ¥igrurt [RsionR dluuys (D) 530

RURAML A A1~ 3 (National Science Day) €2 a¥ $8 didlw Gorauy ¢ ?
(A)28 420 (B) 27 54208l

(C) 26 3203 (D) 25 54208l

AlsAML A 2 Apuucu dldg v pisls 56 A-a/zia e 2da 9 ?
(A) 28l (NDTV) (B) M Adl (Zee TV)

(©) xue ddl (Sansad TV) (D) 2U% d$

@R ALl 202, [Ana $HIR (R. Vinay Kumar) g1 [Radl 8 saimi 2udd 6. dil 58 4d il
AsnAA san ?

(A) siis{la - Boxing) (B) 4%+ Guisaldl 2ud - (Weight lifting)

(©) (352 - (Cricket) (D) 814l - (Hockey)

G-20 tuoid AL ALsAl A5l :

1. 20 uHl2 Ul 80% gRait GDP-L (82 4R1d €9, 75% dUR 24 60% Al (SRl 4R1d €9,
2. A 1999 ¢ €2 Ay G-20 -1l 6iss w9,

3. 30 2irl 31 2521042 2021 +lL A% AH lld ¢4 6165 HOAIR 6,

(A) naH i ollog aus 4oy 8. (B) tllog 27 Alog sy ulou 9.
(C) naH 17 Alog sy U2 99, D) nan, oilog 244 Alog ausu ulou 9.
UL HELAL 24 d el A0 1oy {d lisal.

1. 3 Higl R4un a. slastl - Kolkatta

2. SAWAA (EMS) R 8un b. &anaR

3. sdlou R c. 5190 518l - Kozhikode

4. dldsiie yal MRdl SlRid d. wMelE
(A)1-¢,2-b,3-a,4-d B)1-d,2-¢,3-b,4-a
(C)1-b,2-2a,3-d,4-¢ D)1-a,2-d,3-¢c,4-b

9 %cdrll RHAIRL 2 AU AL UL 5y g Ulou el ?
(A) Sdd W - AdTY

(B) uldl duasas - gizdlz

(C) arn aRawl - [Raun suoy 2l (Marks woman)

(D) »iflc 3-u - [532 (Cricket)
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094.  WHA-{l 2i] (Trophy) Al ML A3 5124 USL 5L A5 U2U & ?
1. [852 - 2.4\ oll2eu 2i8) (G.D. Birla Trophy)
2. oigillre - oL su (Narang Cup)
3. 814l - wHl-UR 218] (Charminar Trophy)
4. @’{Tét - $331 54 (Federation Cup)

A1, 2 21 4 (B) 2, 3 ¥ 4
(O) 1,3 x4 4 (D) 1,2, 3 24 4
095. 9 AU A 2021-20221 A 442 [AUAAMHT SAR 29 SAUH 20dE 8 ?
(A) 28 5420l - 2021 (B) 1w - 2021
(C) 2 WA - 2021 D) 3 WA - 2021
096. WM 2 dui GuALHI Adidl Aoeirl Azl Loy dd duisal.
1. s20lld - Football a. 615 -3 - Back hand
2. ¢flo - Bridge b. l={lot - Pinching
3. 6l¥ olld - Base ball ¢. 93 34U - Grand slam

4. 613 Ylve-t - Bad minton  d. 4% - Kick

A)1-d,2-¢,3-b,4-a B)1-¢,2-b,3-2,4-d
(C)1-b,2-2a,3-d,4-¢ M)1-2,2-d,3-¢,4-b

097. A S~ida- xAsud% (City Innovation Exchange) (CIX) W@asiH sul HoUAU gIRL A3 $AHI
A 89 ?

(A) A8 HU4Y - Home Affairs
(B) 1620121 24 16i 2453 WA - Housing and Urban Affairs
© %SC:ter\l['\‘lSQ{ A 208,81, {14 - Electronics & L.T.
(D) [Q1&a H-uay - Education
098.  d Al5d Honau gIRL, §2 4 v %9 2uasils WAl (Swachh Iconic Places) (SIP) W2 A+

U4l sirl uigoll ada Al ?
(A) APl 5L - HSRIG B) cawa (ean - [Bed)
(C) §MAE 512 - A%AA (D) tus o8l HER - vy

099.  5idls Al - COVAX Scheme 2l HaH dsfld AR sul e € ?
(A) Y B) @
(C) Saidlu (D) S\
100.  SraHi 2u0H ARA A4 UA 59 a0 304 Hedlun sTaR (§) -l dirt war A2 w2 2uda o ?
(A) ADB - Asian Development Bank
(B) 4&S 6i+5 - World Bank
© 2, 208.2u8.00l. (AIIB) - The Asian Infrastructure Investment Bank
D) Y 3aquire oivs - New Development Bank
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101.

102.

103.

104.

10S.

106.

107.

108.

109.

110.

111.

112.

F. Y. Taylor in America (1865 — 1915) who is regarded as father of

(A) Simplification (B) Standardisation

(C) Work study .Scientiﬁc management
Management by objectives emphasizes participatively setting goals that are

(A) General in nature (B) Easy to attain

(C) Easy to create and develop .Tangible, verifiable and measurable

“ An organization consists of people who carry out differentiated task which are co-ordinated
to contribute to the organisation’s goal”. This definition of organization was given by:

(A) Louis A. Allin (B) Haimann
.G. Dessler (D) O. Sheldom

Which organization is suitable for large manufacturing concerns and capable of expansion in
future?

(A) Line .Functional

(C) Line and staff (D) None of the above
Which of the following is not a process tools for TQM systems

(A) process flow analysis (B) histograms
.plier (D) control charts

organization is governed by certain laid down, rules, regulation procedures for its
proper functioning.

(A) Staff (B) Functional

.Formal (D) Informal

Main function of production planning and control

(A) Planning, Routing & Scheduling (B) Dispatching, Follow up & inspection
.All of the above (D) None of the above

Product decision committee may have on it executives of

(A) Manufacturing and Engineering (B) Marketing

(C) Finance @)A1 of the above

Which of the following analysis mostly used for inventory control

(A) Lead time analysis (B) PERT analysis

(C) CPM analysis . ABC analysis

In mine planning, MACRO planning mean a period of

(A) 2 years (B) 3 years

(C) 1-3 years .5-20 years

A person who has not attained the age of years and associated with a business is known
as a minor partner.

(A) 15 (B) 16

@:s (D) 20

In Joint Stock Company the Capital is contributed by
(A) One Person (B) Maximum by Seven persons

.By large number of persons. (D) None of the above
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113.

114.

115.

116.

117.

118.

119.

120.

121.

122.

123.

Cooperation societies can be formed by members and should be registered with the
registrar of co-operatives.

.Minimum of 10 (B) Maximum of 10

(C) Minimum of 50 (D) Maximum of 50

Any company in which not less than % of the share capital is held by the central
government is called government company.

(A) 90 (B) 75

(C) 60 @-:

Most large companies consist of four organizational levels: the , the division level, the
business unit level, and the product level.

(A) board of director level (B) major stakeholder level

(C) management team level .corporate level

The right given to superior for directing and guiding the action of his subordinates to extract
the work from them is called

(A) Delegation of responsibility (B) Power

.Authority (D) None of the above

Public limited Joint Stock company has to have minimum directors.
(A) One (B) Two

.Three (D) Four

“Planning is deciding in advance what is to be done. It involves the selection of objectives,
polices, procedures and programmes from among alternatives” The above definition is given

by
.M. E. Harley (B) Koontz and O’ Donnell
(C) Alfred and Beatty (D) Frank Gilbreth

Which of the following permits senior management to grasp the marketing plan’s major thrust?
(A) The situation analysis.

(B) The marketing strategy.

.The executive summary and table of contents.

(D) Financial projections

Which is one the components of planning?

(A) Goals and objective (B) Policies and Rules
(C) Schedule and Budget .All of the above
Which is the physical characteristic in an individual fitness for a job?
(A) Age (B) Sex

.Height (D) Place of Birth
Which of the following is not a marketing component?

(A) The offer (B) The Market
.Firm (D) System

Reference check is generally the step before the candidate is offered a job in the
organization.

(A) First (B) Middle

.Last (D) All of the above
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124. Which one is the external causes of labour turnover?
.Poor means of commuting (B) Using exit interviews

(C) Stablilsing Production and sharing work (D) Controlling discharge

125. Social and administrative training is needed for management.
(A) Top (B) Middle
.Lower (D) All of the above

126. Inclination of a person towards a definite work is determined by test.
.Aptitude (B) Pshychological
(C) Trade (D) All of the above

127. Executive training for graduates with high intelligence are selected and generally trained for
(A) 3 months (B) 6 months
.One year (D) Three years

128. The methods of training by demonstration on the job, vestibule and apprentice ship is for
.Workers (B) Foreman
(C) Supervisor (D) Executive

129. The Ratio of trainees : instructor for imparting training under T. W. L. is generally
(A)5:1 @o0:1
©)50:1 D)100:1

130. Role playing is widely used for in training.
(A) analytical thinking (B) problem solving ability
.human relations and leadership (D) None of the above

131. Forecasting, order writing, production design are under which phase or planning?
(A) Action .Prior
(C) Progress (D) Corrective

132. What information gives the Route sheet?
(A) everything about operation
(B) about operation time
(C) section and machine on which the work is to be done
.All of the above

133. Assignment of work to the facility with specification of time and the sequence in which the
worKk is to be done is known as .
(A) Routing (B) Planning
@ scheduling (D) Controlling
134. Aggregate output/Aggregate Input is known as-
(A) Productivity (B) Material Productivity
(C) Capital Productivity .Total Productivity
135. Basic work content and excess time is called-
(A) Work content .Total work content
(C) Work-time content (D) Total content
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136.

137.

138.

139.

140.

141.

142.

143.

144.

145.

146.

147.

Generally, longer planning take anywhere from .
(A) one month to 06 months (B) one month to 1 year
(C) 3 year to 5 years .5 years to 15 years plus

Maintaining a balance in activities towards a goal or set of goals evolved during production
planning is known as-

(A) Planning (B) Planning & scheduling
.Production control (D) Routing

Which of the following is the internal factor affecting productivity.

(A) Availability of capital .Management techniques

(C) Extent of market competition (D) Technical and other training facilities

Increased productivity gives benefits like more profit, ensure stability, higher volume of sales
and overall prosperity. These benefits to

.Concern (B) Workers

(C) Consumers (D) Nation

By doing rationalization, productivity will be .

(A) decreased .raised

(C) No effect (D) decreased or raised

As per MOEF guide line, the projects with mining lease area would be categorized as
B2.

(A) < Sha @ 5ha<25na

(C) > 25ha <50ha (D) >50 ha

The mining lease holder shall submit to the competent authority final mine closure plan for
approval prior to the proposed closure of the mine.

(A) 6 months (B) one year

.2 years (D) 5 years

What is the minimum amount of Financial assurance to be deposited for proper implementation
of progressive mine closure plan for category ‘A’ mine?

(A) One lakh (B) Two lakh

(C) Five lakh @ 1en 120

The mining lease holder shall submit to IBM before 15t day of every year, the extent of
protective and rehabilitative work carried out as in approved mine closure plan.

(A) January (B) April

.July (D) October

How many copies of EIA / EMP report should be submitted for its clearance to MOEF?

(A) 10 B) 15

@:0 (D) 50

FMCP shall be prepared by a person qualified in terms of

(A) Rule 15 or MCDR, 2018 .Rule 15 of MCR, 2016
(C) Rule 15 of MCR, 2018 (D) Rule 15 of MCDR, 2016
Validity of ISO Certificate is for years

A)S (B) 2

©7 @:
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148. SOP stands for

.Standard operation procedure (B) Safe operation
(C) Simplified (D) None of the above
149. An important Management tool for ensuring optimal use of natural resources is
@ria (B) EMP
(C) MP (D) Closure Plan
150. EIA has now been made mandatory under the
.Protection Act, 1986 (B) Protection Act, 1989
(C) Protection Act, 2000 (D) Protection Act, 2006
151. The Forest conservation act was enacted in .
(A) 1995 @ 1950
(C) 1985 (D) 1990
152. Which policy/s specifies clauses for monitoring mining activities for protection of the
environment?

(A) Environment Protection Act (EPS) 1986 with recent amendments Environment Protection
(Amendment) Act (EPA 2006)

(B) Forest (Conservation) Act, 1980

@5Both (A) and (B)
(D) None of the above

153. The software portal for applying environment clearance is
(A) Vatavaran (B) Pradushan
.Parivesh (D) Mausam

154. The difference between comprehensive EIA and rapid EIA is in the
.Time scale of the data supplied
(B) Rapid EIA is for slower appraisal process
(C) Comprehensive EIA is through collection of one season data only
(D) None of the above

155. To measure dust concentration is used.
(A) Dust extractor (B) Dust trap
.Dust sampler (D) Dust monitor
156. The normal standard for pH of water is .
(A) 6.1 to 9.1 (B) 4.5 to 8.5
(C) 4.0 to 8.0 @55 t09.0
157. In Industrial areas the national ambient air quality standards the RPM (size less than 10 p)
should be (using 24 hours).
@50 p g (B) 175 p g/m®
(C) 200 p g/m? (D) 250 p g/m?
158. A progressive mine closure plan must be submitted by existing mining leases within
days from date of notification.
(A) 120 (B) 150
@30 (D) 200

ATK - MASTER | 20 [ P.T.O.


admin
Highlight

admin
Highlight

admin
Highlight

admin
Highlight

admin
Highlight

admin
Highlight

admin
Highlight

admin
Highlight

admin
Highlight

admin
Highlight

admin
Highlight


159.

160.

161.

162.

163.

164.

16S.

166.

167.

168.

The permissible ground vibration for a mine to protect industrial building not belonging to
owner is

(A) 10 mm for a frequency less than 8Hz

(B) 20 mm for a frequency less than 8-25 Hz
(C) 25mm for a frequency greater than 25 Hz
.All of the above

As per National Ambient Air Quality Standards, suggested method for measurement of Arsenic

is/are

(A) AAS method (B) ICP method

(C) Both (A) and (B) .None of the above

According to MMR 61, no person shall act or continue to act, or be appointed, as manager (I or
II Class) of a mine or mines the average employment of which In excess of but not
exceeding in workings below ground, or in excess of 150 but not exceeding 400 in all in
the mine.

@s. 150 (B) 100, 200

(O) 150, 300 (D) 150, 400

A vertical mine section of a mine working, is to be submitted if average dip of vein is more than
from horizontal.

(A) 25° @:o°

(C) 40° (D) 50°

Every, shaft or winze in course of being sunk, which has an inclination from horizontal,
shall be provided with a ladder way from top to bottom.

@- 25 (B) > 30°

(C)>35° (D) > 40°

Signal code is used when MEN is ready to ascend or descend?

(A) ONE RAP (B) TWO RAPS

(C) THREE RAPS .FOUR RAPS

No working shall be made within m from the railway line.

(A) 30 @+

(©) 60 (D) 90

A competent person shall, once at least on every months, examine every fire-extinguisher

so provided, and shall discharge and refill it is as offen as may be necessary to ensure that it is
in proper working order.

.Three (B) Six
(C) Nine (D) Twelve

Within how many days the notice for opening of mine shall be sent to the authorized officer in
Form C of the schedule of the opening?

.15 days (B) 30 days
(C) 45 days (D) 60 days

How much area from mining lease boundary should be covered for preparing environment
plan?

(A) 50 m (B) 100 m
@:s00m (D) 1000 m
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169.

170.

171.

172.

173.

174.

175.

176.

177.

178.

MCDR 45 (5) (a) says a daily return which shall be submitted thorough an electronic form

through the application developed by the IBM, by hours of the third day following the
day of reporting.

(A) 100 (B) 180

(C) 800 @ 1300

A person holding mining engineering degree with minimum __ years professional

experience of working in a supervisory capacity in the field of mining can be employed as
mining engineer in fully mechanized category A mine.

(A) Two years .Five years

(C) Seven years (D) Ten years

What are the duties of mining Engineer?

(A) Plan and conduct mining operation (B) Responsible for preparing plans.
(C) Study of associated rock and minerals .All of the above

In which form application for registration under rule 45 of MCDR for undertaking mining
shall be submitted?

(A) FORM I (B) FORM J
@rorm k (D) FORM M

The central Government shall constitute a committee for the purpose of Mine Act (12). The
number of persons in the committee are

(A) 5 @:s

O 10 D) 12

‘Drinking water’ point shall be situated minimum m from any washing place, urinal
or latrine.

@ (B) 10

©) 15 (D) 20

How many hours an adult employed above ground in a mine is allowed to work in a day?

(A) 6 (B) 8

@ (D) 10

Every woman employed in a mine above shall be allowed an interval of not less than
hours between the termination of employment or any one day and the commencement of the
next period of employment.

A)8 (B) 9

(C) 10 @

How many scale of latrine accommodation shall be provided in a surface mine?

.One seat for every 50 males (B) One seat for every 75 males

(C) One seat for every 100 males (D) One seat for every 200 males

At every mine employing more than persons on any one day of the preceding calendar
year, there shall be provided suitable first aid room.

(A) 50 (B) 100

@50 (D) 200
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179.

180.

181.

182.

183.

184.

18S.

186.

187.

188.

The number of elected members for canteen managing committee at mines shall be on a scale of

one for every persons employed, provided that the number shall not be more than 5 or
less than 2.

(A) 500 @ 1000

(C) 1500 (D) 2000

The number of persons employed in a mine is 4700. How many welfare officer are needed
according of mine Rules (72).

(A) One (B) Two

.Three (D) Four

Purpose of FORM C [see Rule 48(3) and 78] of Mine Rule 1955 is

.Register person employed below ground (B) Register person employed above ground
(C) Register of compensatory day of first. (D) Register of Leave account.

When did the mines rescue rule come into force?

(A) 2 Jan 1985 (B) 2 March 1985
@2 April 1985 (D) 2 July 1985
At every below ground mine where more than persons are employed below ground

and there is no rescue station within its radius of 35 KM, Owner shall establish on surface a
rescue room.

@00 (B) 500

(C) 1000 (D) 5000

In case of an accident in a below ground mine arising out of the use of any rescue apparatus, a
written report there of shall be sent, within hours of such accident, by the manger of
mine to CI and RI in Form II appended to mines rules.

(A) 12 @:-

(C) 48 (D) 60

No person shall be selected for training in rescue work unless; he is between years of
age and holds FAC from TAA (India).

(A) 18 and 30 (B) 18 and 40

(C) 21 and 40 @21 and 30

When using rescue apparatus, the leader shall carry a watch shall record the pressure of the
compressed oxygen at interval of or so.

(A) 10 min @:20 min

(C) 30 min (D) 40 min

After how much minimum absence from work period, if a person join his duty, he has to undergo
refresher training?

(A) Three Month (B) 6 Month

(C) 9 Month @1 vear

No person shall function as a trainer unless he has attended not less than lectures on
safety in mines, as may be specified for the purpose and approved by C.I.

@six (B) Ten

(C) Fifteen (D) Twenty One
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189.

190.

191.

192.

193.

194.

195.

196.

197.

198.

199.

200.

How many days training course for surface and open cast worker are given (First schedule’
{Rule 6 (1)})

(A) 3 &:q
© 12 D) 15

What is the minimum age of a person having diploma in mining to get a I class manger’s
certificate’.

(A) 25 @:o
©) 35 (D) 40
Every plan or section show a scale of the plan at least cm long and suitable subdivided.
(A) 10 B) 15

@:s (D) 30

Every mining mate shall be appointed under Rule No

(A) 113 (B) 114

(C) 115 @16

What is the diameter of drum of winding engine with respect to diameter of rope?
(A) = 80 times @- s0 times

(C) 2 100 times (D) > 100 times

In which FORM intimation about reconnaissance and prospecting operations shall send to
RCM and State Government?

.Form A (B) Form B

(C) Form C (D) Form D

Which Form of MCDR is for notice of temporary discontinuance of mine?
(AH B) G

(O)F @)=

Form of MCDR is for the monthly return of tungsten mineral.

(A) Fy @r:

(O F; (D) Fy

ISO 19296: 2018 (en) is for —

(A) Method of under ground working (B) Method of surface working
(C) Mobile m/cs working at surface .Mobile m/cs working at underground.
When did Disaster management act come in force?

(A) 2000 @005

(©) 2010 (D) 2012

When using higher voltage conductors greater than protect them with a metallic screen,
conduit or other semi conductive material.

@25y (B)325v

(©)650 v (D) 950 v

When 38" meeting of tripartite committee on convention was held?

(A) Jan, 2015 (B) Jan, 2016

@:n, 2017 (D) Jan, 2018
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201.

202.

203.

204.

205.

206.

207.

208.

209.

210.

211.

212.

213.

Hydraulic action, abrasion, attrition solution, transportation and deposition are the geological
work of

(A) Wind (B) Oceans and Seas

(O) Glaciers .Running water
What is the range apparent dip if full dip of ore body is 70°.
@0°o<>00 (B) 0° <> 70°
(C) 70° <= 0° (D) 70° <> 0°

Which is the example of metallogenetic provinces in India?
(A) Lead & Zinc deposit of Zawar Mines .Manganese deposits of Madhya Pradesh

(C) Quartz deposit of Gujarat (D) Dolomite deposited of Gujarat
Magnetic behavior of mineral deposit is which type of guide?

.Geo Physical (B) Geo Chemical

(C) Geological (D) Geo botanical

What is seismic velocity in Dolomite medium (speed of propagation of longitudinal waves, m/s)?
(A) 2250-4620 (B) 3300-6000

(C) 4320-6420 .4860-6060

Up to which depth diamond drill holes can drill?

(A) 1000-2000 m .6000-7000 m

(C) 7000-9000 m (D) up to 10000 m

Prospecting by percussive drilling with compressed air is suitable for

(A) Soft rock with shallow depth (B) Soft rock with high depth
.Hard rock with shallow depth (D) Hard rock with high depth
What is the rate of penetration by diamond drilling in Limestone up to 300 m depth
@s.7 (B) 7.0

(©) 6.0 (D) 2.8

Rolling, Decimating, Splitting are different methods of

(A) Prospecting (B) Drilling

(C) Sampling .Reduction of bulk of Sample.
Salting of sample is .

(A) Mining Method (B) Sampling Method

(C) Analysis Method .Raising the value of sample
When do we mine underground?

.Deep ore deposit (B) Ore body is steep

(C) Both (A) and (B) (D) None of the above

When a steep ore body has high grade mineral, and extended upto 1 km depth from outcrop,
which mining operation is most suitable.

(A) Opencast (B) Underground
.Combination (D) None of the above
Room and pillar mining method is suitable for:

(A) Hard rock .Soft rock

(C) Fractured rock (D) None of the above
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214.

215.

216.

217.

218.

219.

220.

221.

222.

223.

224.

225.

Which is the selective mining method?

.Cut and fill stoping (B) Sublevel caving

(C) VCR method (D) Room and pillar mining
Which of the following is the unsupported method?

.Long hole open stoping (B) Stull stoping

(C) Shrinkage stoping (D) Square set stoping
Which method is more suitable for maximum ore recovery?

(A) Supported (B) Unsupported
.Caving (D) None of the above

Top of stope is supported by:

@ Crown Pillar (B) Rib Pillar

(C) Sill Pillar (D) Side Pillar

Which is the most suitable machinery for working with continuous miner?
(A) Mine tub (B) LPDT

(C) LHD .Shuttle car

In which method Inverted open pit is created underground ?

.Block caving (B) Sub-level stoping

(C) Both (A) and (B) (D) None of the above

Rock displacement zone include:
1. Caving Zone 2. Cracking zone and 3. Fracture zone

Which is the right zone.

@ 2 B)1&3

(C)only 1 (D) only 3

Which machines are not useful for combined action of loading and Hauling ?
(A) SDL (B) LHD

(C) Scraper .Shattle car

Grizzly is made of:

(A) Iron rods .Rail I-sections

(C) Wire ropes (D) Nylon wires

What is the mixture of Shot creating?

(A) Rock + Glue (B) Cement + Rock

(C) Iron rods + cement .Cement + small iron pieces

Which is not a type of mine entry?
(A) Edit (B) Incline
@ prirt (D) Shaft

The factors size, shape, altitude and depth of minerals are used to decide the choice of surface
v/s underground mining. These are known as —

.Spatial characteristics (B) Geologic condition
(C) Geotechnical (D) Technological
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226.

227.

228.

229.

230.

231.

232.

233.

234.

235.

236.

The maximum allowable stripping ratio (SRmax) is given by —
Where Vr = Value of ore; Pc = Production ccost;

Sc = stripping cost.

@ vr-po)/se (B) (Vr - Sc) / Pe

(C) (Pc—-Vr)/Sc (D) (Sc—-Vr)/ Pc
Drilling, blasting, loading and hauling is known as —

(A) Rock breakage (B) Materials handing
.Production cycle (D) Concentration cycle
Which mineral is produced by SAIL?

.Iron (B) Zinc

(O) Gold (D) Coal

Which of the following is an underground copper mine?
.Mosabani (B) Mochia

(C) Jadugoda (D) Noamandi

is a vertical or steeply inclined underground passage way for downward movement of
ore by gravity, used only in metal mining.

(A) Raise (B) Winze

(C) Shaft .Orepass

Point load strength index (I) and Unconfined Compressive Strength (S) is related as
@s =241 B)S=361

(C)S=121 MD)S=301

Bieniawski’s Geo-mechanics Classification is based on

(A) Strength of Rock (B) Ground water Conditions

(C) Joint Characteristics .All of the above

For a cylindrical specimen of cross sectional area A, length L. Young’s modulus E and axial load
P, the strain energy stored is

@r:L2AE (B) PL22AE

(C) P2L/AE (D) PL2/AE

In a compression test the increase of confining pressure leads to a reduction in the rock
(A) Ductility (B) Angle of internal friction

(C) Brittleness .Ultimate Bearing Load

From a core drilling of shale the average number of fractures per meter of core length is found
to be 20. The RQD (%) of the rock is

(A) 60 @;-
(C) 49 (D) 53

The uni-axial compressive strength and modulus of elasticity of a rock sample are 90 MPa and
30 GPa respectively. The stored strain energy per unit volume in KN.m/m? of the sample at the
time of failure

(A) 1.5 (B) 140
(C) 270 @135
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237.

238.

239.

240.

241.

242.

243.

244.

245.

246.

247.

248.

The number of experimental setups of flat jack to determine 3 dimensional state of stress in a
rock mass is

(A) 6 @:

02 M) 1
The maximum shear stress theory for rock failure was proposed by
(A) Mohr (B) Griffith
.Coulomb — Navier (D) Le Comte
Relationship between stress and strain gives
.Young’s Modulus of Elasticity (B) Modulus of Rupture
(C) Poission’s Ratio (D) Modulus of deformation
According to ISRM 1981 for test specimen slenderness ratio preferable should be
(A) 0.5 to 1.5 @: 3
(O)1.5t02 D)1to3
If P is failure load and d is the distance between tips, the point load strength index (I) is given as
A)I=P/d3 (B) I = Pd?
@ -ra (D) I = Pa3
Compressive Strength of lime stone may vary as MPa
(A)10-39 (B) 100 - 350
(C) 227 -319 @30 - 250
To ascertain rock’s resistance to disintegrate test is conducted.
.Slack Durability Test (B) Permeability Test
(C) Free Swell Test (D) Void Index test
Which of the following is not a mode of failure
(A) Toppling failure .Slide Failure
(C) Wedge Failure (D) Buckling Failure
is the static water table at which the pore pressure in the soil equals zero.
(A) Planer Surface (B) Zero Surface
.Phreatic Surface (D) Pearched water table

With respect to support design the stand up time is

(A) Time span for which support is required

(B) Time span for which no support is required

.Time taken by the rock to transmit overburden pressure to side walls
(D) None of the above

CMR 1957 donot permit any mining to be done underneath and within M of the building
(A)30M B)50 M

(C)25M @+ ™m

Angle of fracture is usually angle of draw

.Less (B) Greater

(C) Equal to (D) Can’t say
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249, Caving is caused due to
(A) Elastic or inelastic deformation in the rock
(B) Time independent or dependent characteristics of the rock
(C) Method of Mining
.All of the above

250. A strong seismic shock resulting from a failure or a sudden displacement at some point in the
rock surrounding an underground opening is called
(A) Rock burst .Bump
(C) Ourburst (D) Heaving
251. Penetration rate is than drilling rate.
.Greater (B) Smaller
(C) Equal (D) Any one
252. drilling is suitable for core recovery
(A) Percussive .Rotary
(O) Rotary percussive (D) Auger
253. is similar to jackhammer, but so large that it requires mechanical mounting.
(A) Wagon Drill (B) Stop Hammer
(C) Churn Drill .Drifter
254, In tricone Rock Roller Bit truncated cones placed ° to each other.
(A) 90 degree (B) 180 degree
.120 degree (D) 150 degree
255. In air flushing the speed of the air is about met/sec
(A) 1-10 (B) 11-20
@ :5-30 (D) 25-45
256. Which of the following affects least the rate of drilling
(A) Bit Geometry (B) Drill torque
(C) Blow energy .Operators skill
257. In rotary drilling thrust P varies as the rotational speed n
(A) Directly .Inversely
(C) Exponentially (D) Linearly
258. Which of the following drilling method is best suited to hard rocks
.Percussive (B) Rotary
(O) Rotary Percussive (D) Auger
259. Penetration rate with down the hole drilling in hard Iron Ore (Noamundi) is m/h
(A) 10-12 @+
(©) 7-10 (D) 12-15
260. Air pressure required in Down the hole hammer drilling is Atg
(A) 3-5 (B) 7-10
@s-- (D) 10-12
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261.

262.

263.

264.

265.

266.

267.

268.

269.

270.

271.

272.

273.

Low explosive deflagrates at a comparatively slow rate i.e about m/s
(A) 250 (B) 850
(C) 650 @+s0

Death Density of explosive is density at which explosive
.Becomes insensitive (B) Freezes and is converted into cake

(C) Becomes sensitive to the detonating cord (D) Blasts but doesn’t provide breakage

Velocity of Detonation (VOD) of emulsion is usually km/sec
(A)3.5-4.5 @s.0-6.0

(©)6.0-7.0 (D) 2.0-3.5

Burning rate of Safety fuse is usually minutes/meter

@): (B) 3

)4 D)5

The most effective and oxygen balanced ANFO mixture is with % of diesel (by wt.)
(A) 7-8 (B) 3-4

@s-¢ (D) 4-5

In underground detonators should be used.

(A) Aluminium .Copper

(C) Zircon (D) Tin

A magazine construction has to be approved by

(A) Director of Explosives (B) Controller of Explosives
(C) Superintendent of Explosives .Inspector of Explosives
In underground which of the following drilling pattern is not recommended for hard ground
.Fan Cut (B) Burn Cut

(C) Coromant Cut (D) Drag Cut

Burden is than spacing

.Less Than (B) Greater Than

(C) Equal to (D) Not related

Which of the following is correct for calculating sub grade drilling J
(A)J=13B B)J=0.7B

@ -038 D)J=1.7B

In which type aerial ropeway, rope moves bucket as well as carries its load?
.Monocable (B) Bicable

(C) Both (A) and (B) (D) None of the above

The purpose of exhaust conditioner in diesel locomotive is —

.Removing CO2 (B) Removing water gas

(C) Removing hydrogen gas (D) None of the above

A train of 40 T is hauled by a locomotive weighing 10 T at 20 KMPH up an incline of 1 in 100.
The running resistance is 6 Kg/T. Find the BHP to be developed by the locomotive with gear
efficiency 85%.

(A) 584 (B) 62.6
@cs.s (D) 72.6
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274.

275.

276.

277.

278.

279.

280.

281.

282.

283.

King’s detaching hook consist of plates.
(A) 3 mild steel (B) 4 mild steel
(C) 3 wrought iron .4 wrought iron
“15 / 90 working dragline” 90 stands for —
(A) Bucket capacity (B) Boom height
.Boom length (D) Disposal distance
is a drill for drilling upwards and derives its name from its wide spread use in metal
mining.
(A) Drifter .Stoper
(C) Borer (D) Sinker

Which is the most commonly pump used in mines for high capacity, high heads and stable
head-discharge characteristics?

(A) Centrifugal .Turbine

(C) Dill (D) Mono

Maximum permitted electrical input which can be taken to open cast mine in Indiais  V
(A) 6000 (B) 3300

@ 11000 (D) 33000

The majority of AC winders are designed to operate at kV

(A)3.3 (B) 6.6

(C) 11.0 @)A1 of the above

For open cast mining projects, maximum limit of volts is allowed over a condition that
the neutral wire shall be properly grounded

(A) 110V @:s0v

©) 1100V D)550V

Minimum standard of illumination at work place of HEMM in open cast mines for vertical and
horizontal is

@isu2sv (B)20 H35V

(C)25H25V MD)10H25V

Why East and West points are transposed in miner’s dial?

(A) Magnetic needle is moving (B) Dial is moving

.Dial is moving and needle is fixed (D) Dial is fixed and needle is moving

The circle of a theodolite is divided into degrees and 1/3 of a degree. Design a suitable decimal
vernier to read upto 20".

.Take 59 such primary divisions from the main scale and divide it into 60 parts for the
vernier.

(B) Take 60 such primary divisions from the main scale and divide it into 59 parts for the
vernier.

(C) Take 49 such primary divisions from the main scale and divide it into 50 parts for the
vernier.

(D) Take 50 such primary divisions from the main scale and divide it into 49 parts for the
vernier.
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284.

28S.

286.

287.

288.

289.

290.

291.

292.

293.

294.

In transit vernier theodoloite double vernier is required when the graduation on main scale are
marked in both directions from the common zero. Double vernier is needed for measuring

(A) Horizontal reading .Vertical reading
(C) Horizontal and vertical readings (D) Not required

The process of turning the telescope in vertical plane through 180° about the trunion axis is
known as

.Transiting (B) Swinging the telescope
(C) Changing face (D) Telescope Normal
What is the sum of deflection angles in a closed traverse? Where n = number of sides of traverse.
(A) 180° @:oo0°
(C) (2n — 4) right angles (D) (2n + 4) right angles
When levelled, a level provides line of sight?
(A) Level (B) Nearly Levelled
.Horizontal (D) Nearly Horizontal
Axis of telescope is line joining the centre of the eyepiece and the optical centre of the
object glass.
(A) Horizontal (B) Straight
. Imaginary (D) Vertical
is the first staff reading taken after the level is set up whereas is the last staff
reading of the setting.
(A) BS and IS (B) IS and BS
(C) FS and IS @ 5Bs and Fs
Find the combined corrections for curvature and refraction for a distance of 3 KM.
(A) 0.7065 KM @o.6057 km
(0) 0.2019 KM (D) 0.2355 KM

Two wires A & B at a distance of 5 m are suspended for correlation in a vertical shaft. Instrument
station C is 2 m from wire B. A, B & C are approximate in same alignment. When wire A & B
are observed by theolite from C, the displacement of A and B is observed 3 cm at B. How much
theodolite will be shifted to bring A, B and C in perfect alignment.

@42 cm (B) 2.2 cm

(C) 3.7 cm (D) None of the above

Plumb Wire should be freely suspended in a vertical shaft for corelation. It is checked by
(A) equal to unity .less than unity

(C) more than unity (D) None of the above

In correlation A & B are two wires in a shaft and C is theodolite station near B. All are in the
same line. Can we see A wire?

(A) No .Yes

(C) Both can be seen at the same time (D) If wire swing then we can see

Where any mine to which MMR 61 regulation 142 applies any part thereof is abandoned over a
period of months the owner shall submit plan within 30 days to DGMS

(A) Two .Four

(O) Six (D) Eight
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295.

296.

297.

298.

299.

300.

The following perpendicular offsets were taken at 10 m intervals from a survey line to an irregular
boundary line:

3.25, 5.60, 4.20, 6.65, 8.75, 6.20, 3.25, 4.20, 5.65

Calculate area enclosed between the survey line, the irregular boundary line, and first and last
offsets by Simpson’s rule.

(A) 424.44 sq. m. (B) 433 sq. m.
.439.67 sq. m. (D) None of the above
On what R.F. a key plan is prepared according to MCDR?
(A)1:2,000 (B)1:5,000
(©)1:10,000 .1 : 50,000

Dual scale is used to prepare

(A) Plans for large area.

(B) Transverse section when dip > 30°

(C) When two plans are combined.

.For sections of small thickness and large plan area.

In which type of surveying the shape of earth is taken into account?
(A) Plane .Geodetic

(C) Topographical (D) Photographic

The length of a line measured with a 20 m chain was found to be 250 m. Calculate the true
length of the line if the chain was 10 ¢m too long.

@:51.25m (B) 248.76 m

(C) 250.62 m (D) 249.38 m

Person holding staff will take the reading, when staff is used at a time of leveling.
(A) Solid (B) Folding

.Target (D) Telescopic
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